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=ki:] eE | 1 [HEK FE 2 | X X X X]| o
1 =k heE | 2 |EERE BEE 2 | X X X X]| o
=kisS MReE | 3 [JER Fix 3 [ X X X X] o
=k MeE | 1 [ZFRIR ME 2 |O X X X 1
2 =k WeE | 2 |EHE H&EFE 2 |O X X Of 2 O
=kisS MeE | 3 [MEA XE 2 [ X X X X] o0
B TH | 1 [tERK BE 2 [ X X X Of 1
3 B EH | 2 B <G 1 I X X X Of f
BE TH | 3 [EM ZE 1 | X O X X 1
B EH [ 1 [8K FIW 1 | X X X X| o
4 B TH | 2 [FE B 1 | X X X X|[| o
BE IH | 3 |EA BK 1 | X X X X| 0
BRFem | 78 | 1 |XE EB 2 | X O X X 1
5| B | 8 | 2 | X% 2 [ X O X X 1
HEe | 98 | 3 |=% XBRE 2 | X X O X 1
B | 8 | 1 | BE 2 |O X O O] 3 O
6 | FRFE | 8 | 2 |1EAK &N 2 |O X X X 1
Bm | 08 [ 3 |[#&% FiL= 2 | X X O O] 2 @)
B FiR | 1 |k BEiE 3 | X O O O] 3 O
7| FiF@E| R | 2 |EF RKEF 11O X X X 1
BEEE| ®iR | 3 [(XE ED 1 | X X X X| 0
BEmE| iR | 1 |£8 #4% 2 | X O X X 1
8 | FiF@mE| fiR | 2 [BE Ei 2 |O X O Of 3 O
ARk fR | 3 [FH & 2 [ X O X X 1
ELAOM BE | 1 kB BE 2 [ X X X X] o
9 B0 £E | 2 |FEY WR 2 |O X X X 1
=m0 £E | 3 |=H R 2 [ X X X X] o0
EraOH 28 | 1 |PH BE 2 O O O O] 4 O
10 [BLA0#| £E | 2 |BMR OGO 2 | X X X X 0
=m0 &E | 3 |#&#E R 2 | X X O X 1
&1 A | 1 |WE FEBE 2 | X X X X 0
11 =il FH | 2 | FHE 1 [ X X O X 1
& FH | 3 | X FER TIX X X X[ o
&1 EH | 1 |RER RE 2 |O X O X| 2 O
12 1\ EE | 2 M) hZE 1 | X X X X 0
& A [ 3 |IER RN 2 | X X X X 0
ELdkE| BT | 1 [F BF 31O O O O] 4 O
13| ExdE| BEF | 2 |AAKR X 2 | X X X X[ o
ELXidk#E| EF [ 3 [/MNUEH FHX 1 | X X X X| 0
ELE| BT | 1 [EH ¥EIE 1 | X X O X 1
14| E¥E | BRI | 2 /MR D 2 | X X X X]| o0
FHE | %I | 3 [k BE 1 | X X X X| 0
R | BT | 1 |/ F 1 | X X O X 1
15| E8HE | I | 2 |EE fiR 1 |]O X X X 1
THE | %I | 3 |E% HOH 2 | X X X X 0
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BiFRE | &F | 1 |EFE & 2 | X X X X]| o
16| FRIFER | &F | 2 WA &M 2 | X X X X]| o0
FRE | &F | 3 |[#&#& B 2 [ X O X O] 2 @)
BRFER | 8F | 1 |=8% F& 2 | X X O Of 2 O
17 BFFE | &F | 2 | tiE 2 | X X X X]| o0
BFERE | &F | 3 |Hfif FAE 2 | X X O X 1
BB =5 | 1 [Pl BEF 2 [ X O X X 1
18| FAFRBA0| &H | 2 |hZE fEF 2 | X X O X 1
AR % 3 |8 KRB 2 [ X X X Of 1
FARFREFN | % 1 |AE ¥t 2 | X X X X 0
19 | BRFRRFD| % 2 |BBA FE 2 | X X X X]| o
AR | &H | 3 [AR KEE 2 | X X X X| o
EBTE| AE | 1 [mErIEYER] 2 | X X X | X 0
20 [EBTE| A% | 2 |F HW 1 |O X O O 3 O
EWTE| AIF | 3 |BHEE HE 2 | X X X X]| o0
B B | 1 |FK EBE 3 | X O X X 1
21 | BpFdE | B | 2 [FR B 2 | X O O X]| 2 O
BREimE| B | 3 [FEk 20 3 [ X X X X] o
BRFEm| Bd | 1 |2t &3 1| X X O O 2 O
22 | BpFAE | He | 2 [/ B 1 | X X X X|[| o
RREm| Hd | 3 |&5H X£E 1 | X X O X 1
1D 3+ HEEWCES 2 | X X O Of 2 O
23| uH # 2 |I\& fE 2 | X X O X 1
e £ 3 [FiE #EE 2 | X O X X 1
IS # 1 |BE TS5 2 |O X O X| 2 O
24| L3l 3+ 2 |RIH ¥R 2 | X O O Of 3 O
=] A | 3 [P F0F 2 | X X O O] 2 @)
Bl AR | 1 [3RE EEE 2 [ X O X O] 2 O
25 B BE | 2 [iFH kg 2 | X O O X 2 O
=] AR | 3 |RE WE 2 | X X X X]| 0
B BB | 1 [/hR OB 2 | X X X X 0
26 = AR | 2 WA %D 2 | X X X X[ o
W | Ak | 3 |EA HE 2 [ X X X X] o0
MEE N EN R EE 2 | X O X X 1
27 | IWLA=PRE| W& | 2 (Hb XA 2 | X X X X]| o
=Hk Ke | 3 [EH E#E 1 | X X X X[ o0
=Fk Kae | 1| KF BX 1 | X X X X[ o0
28 | EEIF A | 2 |[#R BE 2 | X X X X]| o
JE I FvA | 3 |&xB BEEE 2 [ X X O X 1
BEIF ME | 1 |[BHF #HE 2 [ X O X O] 2 O
29 | EIF A | 2 |E% 24 2 |O O O Of 4 ©)
JE I A | 3 [/ B 2 |]O O O X| 3 @)
BE I HE | 1 |[NE BK 2 | X X X X 0
30| FHpE W | 2 |[KiE =& 2 [ X O O X]| 2 O
B % wis | 3 [FkIE EF0 1 | X X X X|[| 0




TFFiE3

STIE B4 BEE EF4 A FiE Bit | BiE23)
A% Wiz | 1 |[8BK ER 2
31 A% WiE | 2 |[8E BpIIE 2
B % Wwig | 3 |48 = 2
A% wis |1 [E =5 2
N2 [H/E—| KIE | 2 |[BAIl E&KF 2
BRE—|] KIE | 3 |ZH LB 2
BRFE—| KE | 1 (bl FiH 1
B|FMEE—| KIE | 2 [EH E£H 1
BiEE—| KE | 3 [\ XF 2
BRFE—| KIE | 1 |E#E ER 2
34 | HfFmE it 2 [Ihvith BBE 2
i GiEd] pus 3 'FH &7t 2
GHE] it HEE S 2
3B HM INGR | 2 [INEEROEE{H 2
=M INGR | 3 |ThiE = 2
&M IR |1 FBK E 2
36 M INRR | 2 |WUFEE 8T 2
M K| 3 [l BE 2
&M INE | 1 [ AAF 2
37 = H e | 2 |[F BH 2
=H IS | 3 [RE EE 2
= H N R EEE S 2
38| #HH IS | 2 [ILAR A 2
S H IR | 3 [Bf EARE 2
= H MY | 1 [BETFT B% 1
39 (#pEEELEEE| /NAYD| 2 |[/IMR KF] 2
#R PR BLIEAE| /NAYI | 3[R HBE 2
#PZEEEE /NBAYI| 1 (B EB 2
40 |ZREEEEEE| /NHY) | 2 |FHFIE ERTE 2
B LT | 3 |EH UVFY 2
HW LT | 1 |ZfE Bz 2
41 HW T | 2 [WE BHF 2
B T | 3 |5E KB 2
B T | 1 [f #&E 2
42| HW® LT | 2 |1F2E % 2
Jeit = 3 |AR HEE 2
Jt#t a5 1 |JEA HH 2
43| det a5 2 |HiA HE 2
Jeit = 3 |Hk KB 2
Je#t a5 1 |=8% H%EB 2
44 | BFIE | EAER| 2 |/hk WHE 2
BFRIX[RASE] 3 [lUX 37 2
BRIE|RA]S| 1 /NG Y& 1
45 | FRiF T | RAER| 2 |E88 #04% 1
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